
Fe
br
ua
ry



February  2024

RODRUNNER REF NO: LS-B-1086 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,142

2-SERIES ACTIVE
TOURER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U06 2021- Rear 33506891252

Length: 104 Bolt Metric: M10X1,5

RODRUNNER REF NO: LS-B-1086 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,142

X1

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U11 2022- Rear 33506891252

Length: 104 Bolt Metric: M10X1,5

www.rodrunnerparts.com 1



February  2024

RODRUNNER REF NO: TC-B-118 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 4,055

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Right
Lower

31106878074

Length: 423 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS235
Control Arm

Bushing
Front Lower 31106878074*, 31106878073*

RODRUNNER REF NO: TC-B-119 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 4,055

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Left
Lower

31106878073

Length: 423 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS235
Control Arm

Bushing
Front Lower 31106878074*, 31106878073*

www.rodrunnerparts.com 2



February  2024

RODRUNNER REF NO: LS-B-136 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,366

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front 31306898159

Length: 199 Bolt Metric: M12X1,5

RODRUNNER REF NO: BC-BM-BS235 ADAPTABLE BMW

Control Arm Bushing

Weight: 0,692

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Front Lower 31106878074*, 31106878073*

Length: 89,9

TC-B-118
Control Arm

and Ball Joint
Front Right

Lower
31106878074

TC-B-119
Control Arm

and Ball Joint
Front Left

Lower
31106878073

www.rodrunnerparts.com 3



February  2024

RODRUNNER REF NO: TC-FO-1848 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 9,71

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U324 2007-2017 Front Right
Lower

EL1Z3078A

Length: 412,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-591 Ball Joint Front Lower 9L3Z3050A

YEAR ONLY
2015-2017

RODRUNNER REF NO: TC-FO-1848 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 9,71

NAVIGATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U326 2007-2017 Front Right
Lower

EL1Z3078A

Length: 412,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-591 Ball Joint Front Lower 9L3Z3050A

www.rodrunnerparts.com 4



February  2024

RODRUNNER REF NO: TC-FO-1849 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 9,71

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U324 2007-2017 Front Left
Lower

EL1Z3079A

Length: 412,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-591 Ball Joint Front Lower 9L3Z3050A

YEAR ONLY
2015-2017

RODRUNNER REF NO: TC-FO-1849 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 9,71

NAVIGATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U326 2007-2017 Front Left
Lower

EL1Z3079A

Length: 412,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-591 Ball Joint Front Lower 9L3Z3050A

www.rodrunnerparts.com 5



February  2024

RODRUNNER REF NO: TC-IN-208 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2013-2017 Front Right
Lower

RK622084, 545001CA0B,
545001CA0C

Length: 380 Bolt Metric: M16X1,5

RODRUNNER REF NO: TC-IN-208 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Right
Lower

RK622084, 545001CA0B,
545001CA0C

Length: 380 Bolt Metric: M16X1,5

www.rodrunnerparts.com 6



February  2024

RODRUNNER REF NO: TC-IN-208 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Right
Lower

RK622084, 545001CA0B,
545001CA0C

Length: 380 Bolt Metric: M16X1,5

RODRUNNER REF NO: TC-IN-208 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX50

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Right
Lower

RK622084, 545001CA0B,
545001CA0C

Length: 380 Bolt Metric: M16X1,5

www.rodrunnerparts.com 7



February  2024

RODRUNNER REF NO: TC-IN-209 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

QX70

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2013-2017 Front Left
Lower

RK622085, 545011CA0B,
545011CA0C

Length: 380 Bolt Metric: M16X1,5

RODRUNNER REF NO: TC-IN-209 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Left
Lower

RK622085, 545011CA0B,
545011CA0C

Length: 380 Bolt Metric: M16X1,5

www.rodrunnerparts.com 8



February  2024

RODRUNNER REF NO: TC-IN-209 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Left
Lower

RK622085, 545011CA0B,
545011CA0C

Length: 380 Bolt Metric: M16X1,5

RODRUNNER REF NO: TC-IN-209 ADAPTABLE INFINITI

Control Arm and Ball Joint

Weight: 7,88

FX50

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013 Front Left
Lower

RK622085, 545011CA0B,
545011CA0C

Length: 380 Bolt Metric: M16X1,5

www.rodrunnerparts.com 9



February  2024

RODRUNNER REF NO: TR-KI-671 ADAPTABLE KIA

Steering Tie Rod End

Weight: 0,944

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Right 56821A9000

Length: 248 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-KI-672 ADAPTABLE KIA

Steering Tie Rod End

Weight: 0,944

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Left 56820A9000

Length: 248 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 10



February  2024

RODRUNNER REF NO: TC-KI-808 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 5,618

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Right
Lower

54501A9100, 54501A9200

Length: 451

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-1014K Ball Joint Kit Front Lower 54501A9100*, 54500A9100*

RODRUNNER REF NO: TC-KI-808S ADAPTABLE KIA

Control Arm

Weight: 4,45

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Right
Lower

54501A9100, 54501A9200

Length: 328

www.rodrunnerparts.com 11



February  2024

RODRUNNER REF NO: TC-KI-809 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 5,618

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Left
Lower

54500A9100, 54500A9200

Length: 451

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-KI-1014K Ball Joint Kit Front Lower 54501A9100*, 54500A9100*

RODRUNNER REF NO: TC-KI-809S ADAPTABLE KIA

Control Arm

Weight: 4,45

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YL 2015- Front Left
Lower

54500A9100, 54500A9200

Length: 328

www.rodrunnerparts.com 12



February  2024

RODRUNNER REF NO: LS-LX-386 ADAPTABLE LEXUS

Stabilizer Bar Link

Weight: 0,322

LS400

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF20 1995-2000 Rear MK80372, 4883022041

Length: 95 Bolt Metric: M12X1,25

USA Market

RODRUNNER REF NO: LS-M-106 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,46

SL-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R232 2022- Front 2323203100

Length: 198 Bolt Metric: M12X1,5

www.rodrunnerparts.com 13



February  2024

RODRUNNER REF NO: TC-N-1488 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,688

Q40

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015- Rear Lower
Forward

551A0JK000

Length: 315,2

RODRUNNER REF NO: TC-N-1488 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,688

G25

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2012 Rear Lower
Forward

551A0JK000

Length: 315,2

www.rodrunnerparts.com 14



February  2024

RODRUNNER REF NO: TC-N-1488 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,688

G37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V36 2007-2015 Rear Lower
Forward

551A0JK000

Length: 315,2

RODRUNNER REF NO: TC-N-1488 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,688

370Z

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2013- Rear Lower
Forward

551A0JK000

Length: 315,2

www.rodrunnerparts.com 15



February  2024

RODRUNNER REF NO: LS-N-430A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,414

MICRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K13 2010- Front 54618JX00A, 54618JX30A,
546181FE0A, 54618ED000

Length: 255 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: LS-N-430A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,414

TIIDA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C11 2004-2012 Front 54618JX00A, 54618JX30A,
546181FE0A, 54618ED000

Length: 255 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 16



February  2024

RODRUNNER REF NO: LS-N-430A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,414

VERSA NOTE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

E12 2014-2019 Front 54618JX00A, 54618JX30A,
546181FE0A, 54618ED000

Length: 255 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: TC-O-1088 ADAPTABLE OPEL

Lateral Arm

Weight: 1,142

ASTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

( K ) 2015- Rear Lower 13407492

Length: 657

www.rodrunnerparts.com 17



February  2024

RODRUNNER REF NO: TC-O-1088 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 1,142

CRUZE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D2LC 2016- Rear Lower 13407492

Length: 657

www.rodrunnerparts.com 18


